

B.Sc. Part-I

Paper-I

Theory of Relativity

Dr. Shiva Kant Mishra

Dept of Physics H.D.J.C.

Theory of RelativityProblem :-

A Particle of mass m_1 , moving with velocity u makes a head on collision with a Particle of mass m_2 initially at rest. So that their final velocities v_1 & v_2 are along the same line. If the collision is elastic, show that $v_2 = \frac{2u}{1 + m_2/m_1}$ and also

Calculate the fraction of total energy shared by m_2 .

Soln - According to Principle of Conservation of momentum.

Momentum before impact = Momentum after impact

$$m_1 u + m_2 \cdot 0 = m_1 v_1 + m_2 v_2$$

$$\text{or } m_1 u = m_1 v_1 + m_2 v_2 \quad \text{--- (1)}$$

According to Principle of Conservation of energy
energy before impact = energy after impact

$$\frac{1}{2} m_1 u^2 + \frac{1}{2} m_2 \cdot 0 = \frac{1}{2} m_1 v_1^2 + \frac{1}{2} m_2 v_2^2$$

$$\text{or } \frac{1}{2} m_1 u^2 = \frac{1}{2} m_1 v_1^2 + \frac{1}{2} m_2 v_2^2 \quad \text{--- (2)}$$

Since in elastic collision, there is no loss of kinetic energy.

$$\therefore \text{ from eqn (1) } m_1 v_1 = m_1 u - m_2 v_2 \quad \text{--- (3)}$$

$$\text{or } v_1 = \frac{m_1 u - m_2 v_2}{m_1} \quad \text{--- (4)}$$

Substituting this value of v_1 in eqn (2) we get

$$\frac{1}{2} m_1 u^2 = \frac{1}{2} m_1 \left(\frac{m_1 u - m_2 v_2}{m_1} \right)^2 + \frac{1}{2} m_2 v_2^2$$

$$\text{or } m_1 u^2 = \frac{m_1 (m_1 u - m_2 v_2)^2}{m_1^2} + m_2 v_2^2$$

$$\text{or } m_1 u^2 = \frac{(m_1 u - m_2 v_2)^2 + m_1 m_2 v_2^2}{m_1}$$

$$\text{or } m_1^2 u^2 = (m_1 u - m_2 v_2)^2 + m_1 m_2 v_2^2$$

$$\text{or } m_1^2 u^2 = m_1^2 u^2 + m_2^2 v_2^2 - 2 m_1 m_2 u v_2 + m_1 m_2 v_2^2$$

$$\text{or } m_1^2 u^2 - m_1^2 u^2 = m_2^2 v_2^2 - 2 m_1 m_2 u v_2 + m_1 m_2 v_2^2$$

$$\text{or } 0 = m_2^2 v_2^2 - 2 m_1 m_2 u v_2 + m_1 m_2 v_2^2$$

Now dividing by $m_2 v_2$ we get

$$0 = \frac{m_2^2 v_2^2 - 2 m_1 m_2 u v_2 + m_1 m_2 v_2^2}{m_2 v_2}$$

$$0 = \frac{m_2^2 v_2^2}{m_2 v_2} - \frac{2 m_1 m_2 u v_2}{m_2 v_2} + \frac{m_1 m_2 v_2^2}{m_2 v_2}$$

$$0 = m_2 v_2 - 2 m_1 u + m_1 v_2$$

$$\text{or } 2 m_1 u = m_2 v_2 + m_1 v_2$$

$$2 m_1 u = (m_1 + m_2) v_2$$

$$\therefore v_2 = \frac{2 m_1 u}{m_1 + m_2}$$

$$= \frac{2 m_1 u}{m_1} \div \frac{m_1 + m_2}{m_1}$$

$$= \frac{2 u}{1 + \frac{m_2}{m_1}}$$

$$\text{or } \boxed{v_2 = \frac{2u}{1 + \frac{m_2}{m_1}}} \quad \text{--- (5)}$$

This Proves the 1st part

for 2nd part —

Fraction of energy shared by m_2

$$= \frac{\frac{1}{2} m_2 v_2^2}{\frac{1}{2} m_1 u^2} = \frac{m_2 v_2^2}{m_1 u^2}$$

$$= \frac{m_2 \left\{ \frac{2u}{1 + \frac{m_2}{m_1}} \right\}^2}{m_1 u^2}$$

$$= \frac{m_2 \left\{ \frac{2u}{\frac{m_1 + m_2}{m_1}} \right\}^2}{m_1 u^2}$$

$$= \frac{m_2 \left\{ \frac{2um_1}{m_1 + m_2} \right\}^2}{m_1 u^2}$$

$$= \frac{4m_2 m_1^2 u^2}{(m_1 + m_2)^2 m_1 u^2} = \frac{4m_2 m_1^2 u^2}{(m_1 + m_2)^2} \cdot \frac{1}{m_1 u^2}$$

$$= \frac{4m_1 m_2}{(m_1 + m_2)^2}$$

Proved
Teacher's Signature _____